

## KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

ORIGINAL Form ACO-1
September 1999
Form Must Be Typed

#### **WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE**

Operatôr: License # 33476	API No. 15 - 171-20690-0000
Name: FIML Natural Resources, LLC	County: Scott
Address: 410 17th Street Ste. 900	
City/State/Zip:	660feet from S/ N (circle one) Line of Section
Purchaser: NCRA	1650 feet from PE / W (circle one) Line of Section
Operator Contact Person: Cassandra Parks	Footages Calculated from Nearest Outside Section Corner:
Phone: (303) 893-5090	(circle one) NE SE NW SW
Contractor: Name: Murfin Drilling Company	Lease Name: Kimball Well #: 15-31-1831
License: 30606	Field Name: Not named
Wellsite Geologist:	Producing Formation: Marmaton
Designate Type of Completion:	Elevation: Ground: 2986' Kelly Bushing: 2996'
New Well Re-Entry Workover	Total Depth: 4801' Plug Back Total Depth:
✓ Oil SWD Temp. Abd.	Amount of Surface Pipe Set and Cemented at 9 jts @ 386' Feet
Gas ENHR SIG@ONFIDENTIAL	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl. Cathodic,260)	If yes, show depth set 3019 Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 3019' DV tool
Operator: KCC	feet depth to surface w/ 525 sx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan A H TIN H 9-3-08 (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 10,200 ppm Fluid volume 660 bbls
Plug Back Plug Back Total Depth	
Commingled Docket No.	Dewatering method used_Evaporation/backfill
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
·	Lease Name: License No.:
4/2/2008         4/10/2008         5/12/2008           Spud Date or         Date Reached TD         Completion Date or	Quarter Sec Twp S. R
Recompletion Date  Recompletion Date  Recompletion Date	County: Docket No.:
	·
Kansas 67202, within 120 days of the spud date, recompletion, workove information of side two of this form will be held confidential for a period of 1	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING. Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulaterein are complete and correct to the best of my knowledge.	ate the oil and gas industry have been fully complied with and the statements
Signature	KCC Office Use ONLY
Title: Regulatory Specialist Date: 7/10/2008	Letter of Confidentiality Received
Subscribed and sworn to before me this 18th day of Quly	If Denied, Yes Date:
2008	Wireline Log Received RECEIVED
Charles State	Geologist Report ReceiverNSAS CORPORATION COMMISSION
Notary Public: \\ \int \indo \cdot \	UIC Distribution  JUL 2 2 2008
Date Commission Expires: Ny Commission Expires	CONSERVATION DIVISION

ORIGINAL

Operator Name: FIML		s, LLC	Lacas	Nome	Kimball		Mail #. 15-3	31-1831° ' •
Sec. 31 Twp. 18			County				_ vveii #	1
NSTRUCTIONS: Sho ested, time tool open a emperature, fluid reco	w important tops a and closed, flowing very, and flow rate	and base of formations p g and shut-in pressures, s if gas to surface test, a inal geological well site	enetrated. whether sh along with fi	Detail a ut-in pre	essure reached	static level, hydro	ostatic pressur	es, bottom hole
rill Stem Tests Taken (Attach Additional St	neets)	✓ Yes  No	:	✓L	og Formatio	on (Top), Depth a	and Datum	Sample
amples Sent to Geolo	ogical Survey	Yes No		Nam Tope			Top 3672'	Datum -676
ores Taken		☐ Yes 🗸 No						-915
lectric Log Run (Submit Copy)		✓ Yes		Lans	ing		3960'	-964
				Kans	as City		4330'	-1334
ist All E. Logs Run:				Marr	naton		4354'	-1358
Triple Combo; l	Microlog			Miss	issippi		4584'	-1588
		CASING Report all strings set-	RECORD	✓ No	<del></del>	ion etc		ā
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weig	ıht	Setting Depth	Type of Cement	# Sacks Used	Type and Percer Additives
Surface	12-1/4"	8-5/8"	24.0		398'	"A" common	255	2.0% gel & 3.0% Ca
Production /	7-7/8"	5-1/2"	15.5		4800'	ASC ,	350	2.0% gel & 10%
				_	3019' (DV tool)	Lightweight	525	0.25 flo & 5.0 pps gilso
		ADDITIONAL	CEMENTIN	ıg / sql	JEEZE RECORD			i
Purpose: Perforate	Depth Top Bottom	Type of Cement	#Sacks	Used		Type and F	Percent Additives	ji
<ul><li>✓ Protect Casing</li><li>— Plug Back TD</li><li>— Plug Off Zone</li></ul>	Mouse & rat hole	Lightweight	25		0.25 pps floce	ele & 5.0 gilson	ite	·
			<u> </u>					<u>.</u>
Shots Per Foot		ON RECORD - Bridge Plug Footage of Each Interval Per				ture, Shot, Cemen		d Depth
4:	387-4390'							
	· • · · · · · · · · · · · · · · · · · ·							
		<del></del>						
TUBING RECORD 2-7/8	Size	Set At 4690'	Packer At	·	Liner Run	Yes   ✓ No	-	
Date of First, Resumerd F 5/21/2008	Production, SWD or E	nhr. Producting Me	108 AO	Plowin	l g <b>√</b> Pumpin	g . Gas Lit	ft Oth	er (Explain)
Estimated Production Per 24 Hours	Oil 66	Bbls. Gas	Mcf	Wate			Gas-Oil Ratio	Gravity
Disposition of Gas	METHOD OF C	OMPLETION			Production Interv	/al į	•	
Vented Sold	Used on Lease		E Perf.	<u></u>	Dually Comp.	Commingled _	,	

24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

APR 0.7 2008

Invoice Number: Invoice Date: Page:

#### Bill To:

FIML Natural Resources

LLC

410 I7th St., #900 Denver, CO 80202

Customer ID	Well Name/# or Customer P.O.	Paymen	t Terms
FIML	Kimba II#1 5-31-1831	Net 30 Days	
Job Location	Camp Location	Service Date	Due Date
, KS	Oakley	Apr 3, 2008	5/3/08

1 4 5 5 5 S

Quantity	Item	Description	Unit Price	Amount
255.00	MAT	Class A Common	14.20	3,621.00
5.00	MAT	Gel CONFIDENTIAL	18.75	93.75
9.00	MAT	Chloride	52.45	472.05
269.00	SER	Handling JUL 1 8 2008	2.15	578.35
56.00	SER	Mileage 269 sx @.09 p.er. sk per mi	24.21	1,355.76
1.00	SER	Surface KCC	917.00	917.00
100.00	SER	Extra Footage	0.80	80.00
56.00	1	Mileage Pump Truck	7.00	392.00
	SER	Manifold & Head Rental RECEIVED	113.00	113.00
	EQP	Plug KANSAS CORPORATION COMMISSION	68.00	68.00
A ***	EQP	O and the limited in	62.00	186.00
	EQP	Guide Shoe  JUL 2 2 2008	282.00	282.00
	EQP	AFU Insert CONSERVATION DIVISION WICHITA, KS	377.00	377.00
2		701205	5	·
				8 535 91

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER: IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

853.59

ONLY IF PAID ON OR BEFORE

May 3, 2008

1	
U	8,857.20
	321.29
/ James	8,535.91
	Jam V

# ALLIED CEMENTING CO., INC.

32193

REMIT TO P.O. BOX 31 RUSSELL, KANSAS 67665 SERVICE POINT:

DAKIEKS

10DC:	ALLED OUT	ON LOCATION	JOB START	JOB FINISH
DATE 31 18 31		9:30pm	3:00AM	2130Am
Kimball 15-31- LEASE WELL# 1831 LOCATION SCOTA	C: 4 6 6.	3125	COUNTY	STATE
OLD OR NEW (Circle one)	<u></u>			
		_		
CONTRACTOR WULL & 14	OWNER 5	A me		·····
TYPE OF JOB SUCSACE				
HOLE SIZE 1214 T.D. 400'	CEMENT			
CASING SIZE 89/8 DEPTH 400	AMOUNT ORI	DERED _ 2 S	Scom	<u> 3 % &lt; c</u>
TUBING SIZE DEPTH	290 ce	<u>Q</u>		
DRILL PIPE DEPTH	<u> </u>			,
TOOL DEPTH			^ C	,
PRES MAX MINIMUM 54	COMMON	255	_@ <u>14</u> *	7621
MEAS. LINE SHOE JOINT 47	POZMIX		_@	
CEMENT LEFTINGS CENTIAL 42 54	GEL	5	@18/	93/
	CHLORIDE	9	@ 5245	47202
DISPLACEMENTUL 18 2008 22.7 BALS	ASC			
KEQUIPMENT		RECEIVED	_@	
Veset in the	KANSAS	CORPORATION COMMI	35 <b>@</b> v	
PUMP TRUCK CEMENTER FUZZY		JUL 2 2 2008		
# 431 HELPER KINY	-		@	
BULK TRUCK	U	ONSERVATION DIVISION WICHITA, KS	@	
# 399 DRIVER Darin			@	
BULK TRUCK	4.		_ @	` ` <
# DRIVER	HANDLING_	169	@ 7 55	57832
•		0945 B 4 m	_,	1355 76
REMARKS:				6120 91
•	•	•	·	
Lement did circulate		CEDVII	CE	
ALDIOV S ERLS		SERVI	CE	

24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887

Fax:

(785) 483-5566

DECEIVED APR 1.7 2008

## INVOICE

Invoice Number: 113471

Invoice Date: Apr 14, 2008

Page:

#### Bill To:

FIML Natural Resources

LLC

410 l7th St., #900 Denver, CO 80202

Customer ID	Well Name/# or Customer P.O.	Payment Terms		
FIML	Kimball #15-3/-/83/	Net 30 Days		
Job Location	Camp Location	Service Date	Due Date	
KS	Oakley	Apr 14, 2008	5/14/08	

Quantity	Item	Description	Unit Price	Amount
550.00	*	Lightweight Glass ADENTIAL	12.65	6,957.50
2,750.00		Gilsonite JUL 1 8 2008	0.80	2,200.00
138.00		Flo Seal	2.25	310.50
648.00		Handling KCC	2.15	1,393.20
55.00		Mileage 648 sx @.09 per sk per mi	58.32	3,207.60
	SER	Production String - Top Stage	1,075.00	1,075.00
	STR. T.	8210-118 Adam J. Bl. 2 nd stage 2 nd 57205	KANSAS CO	RECEIVED RPORATION COMMISSION  IL 2 2 2008  ERVATION DIVISION WICHITA, KS

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1514.38

ONLY IF PAID ON OR BEFORE

May 14, 2008

TOTAL	15,740.28
Payment/Credit Applied	
Total Invoice Amount	15,740.28
Sales Tax	596.48
Subtotal	15,143.80

-1514.38 14,225.90

# ALLIED CEMENTING CO., INC.

JUL 2 2 2008 -ENVATION DIVISION 2096 WICHITA, KS

T.	
REMIT TO	P.O. BOX 31
	RUSSELL, KANSAS 67665

REMIT TO P.O. I RUSS	BOX 31 SELL, KAI	NSAS 6766	55		*** · · ·	SI	ERVICE	POINT:	154
21-10-08 DATE	SEC.	TWP.	RANGE	CALLEI		ON LOCATIO	m /	0.30 AM	JOB FINISH
KIMBA/1	WELL#	15	LOCATION S	cott cet	4 8E-3	3N-1/2W-N	- <b>- 11</b> CO	Coff	STATE
OLD OR (ÉW)(C	ircle one)								
CONTRACTOR ,	MURFI	W DRZ	S. RIL #	/4 ow	/NER	SAME	· · · · · · · · · · · · · · · · · · ·		
TYPE OF JOB 🎢	Roducti	on Stra	NOTOP 3	stack "	- AND 100				
HOLE SIZE	7/1/51	T.D		<del></del>	MENT	DEDED			
CASING SIZE	51/2		PTH 4815	AIV	IOUNT OR	DEKED	CZ/50/	vote 1/2	F10-58A1
TUBING SIZE			PTH PTH		00 405/	<del>~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~~</del>	<u>JEJ</u>		, , , 0 - 0.11
DRILL PIPE TOOL <b>/</b> )~	V Tool		PTH 3019	2'					
PRES. MAX	0 /000		NIMUM		MMON		@		
MEAS. LINE CO	NFIDEN		DE JOINT 21	/55 PO	ZMIX		@		
CEMENT LEFT [		nna 2/	155'	GE	L		@		
PERFS.	UL 10 *				LORIDE _		@		
DISPLACEMENT	KCC	72	BBLS	AS			@	665	100-50
	EQU	JIPMENT				550 sls	@		69578
PUMP TRUCK	CEMENT		ERRY	<i>G</i>	F/SONE	FE 275	@ <u>**</u> *ق @	B, 80	2200 2
# <i>42</i> 2	<b>HELPER</b>	L	DAYNE		E/0-521	Al 138°	<b>.</b> @	7 25	310 50
BULK TRUCK 、		_			,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,		@		- K
# 394	DRIVER	DE	RRIN				@		
BULK TRUCK	DDII/ED	1	A A = = + C				@		
# 347	DRIVER	<u> </u>	ARENE	HA	NDLING_	6485	<u>es</u> @	2/2	1393 20
			*	MI	LEAGE 🕏	94 MER S	R/M	2/2	3207 6
	RE	MARKS:	٠,١٠					TOTAL	14068
MIX 1651	Es Mo	USE HO	E. MIX 1	<u>155Ks</u> 155Wf		SFI	RVICE		•
MIX 525	Sks Li		SE/SEMENTE						
Flo-SEAL.	WAS		ICKY LIN	ues DE	EPTH OF JO	)B	:	3019	
DISPIACE.	72		Ater.	PU	MP TRUCE	OB K CHARGE _			1075
Plub LA	NOSO	At -	2300 PSI			ГАGE	@		
D-1 TOO	1 HEI	01.		MJ	LEAGE	55.	m= @		_NC_
CEMENT	OF	CI	THANK)	MACCO MA	ANIFOLD_		@		
			THANK				_		
	بمسيو	1		·			@		
CHARGE TO:	Fi							TOTAL	1075 3
CITY	S	ГАТЕ	ZIP			PLUG & FL	OAT E	QUIPMEN	T
						· · · · · · · · · · · · · · · · · · ·		·	
		nes management of the set				, make the tag	@	V V V	
To Allied Cemer	_								
You are hereby	_						@		
and furnish cem contractor to do									
done to satisfact								TOTAL	
contractor. I have		_		CAND	•				
CONDITIONS"	•			TA	ΛX	* 4			
COLIDITIONS	Hotel Off	the revers	<u> </u>	TC	TAL CHAI	RGE			
		1		i					D IN 30 DAYS
	4	1	1 1 71	וט	OCOUNT -		<del></del>	— IL LVI	$\sigma$ TW or NY $\sigma$

W Gary Poke



24 S. Lincoln Street P.O. Box 31 Russél, KS 67665-2906

Voice: Fax: (785) 483-3887 (785) 483-5566 DECEIVED APR 1 7 2008

Feutiar .....

## INVOICE

Invoice Number: 113470

Invoice Date: Apr 14, 2008

Page: 1

#### Bill To:

FIML Natural Resources

410 l7th St., #900 Denver, CO 80202

Customer ID	Well Name/# or Customer P.O.	Payment Terms		
FIML	Kimball #15 - 3/~/83 /	Net 3	0 Days	
Job Location	Camp Location	Service Date	Due Date	
KS	Oakley	Apr 14, 2008	5/14/08	

Quantity	Item	Description	Unit Price	Amount
6.00(	MAJEIDENTIA	Gel	1.8.75	112.50
350.00	MAT	ASC Class A	16.75	5,862.50
35.00	MAHL 18 2008	Salt	21.60	756.00
500.00	MAT	WFR-2	. 1.15	575.00
411.00	SER KCC	Handling	2.15	883.65
55.00	SER	Mileage 411 sx @ 09 per sk per mi	36.99	2,034.45
1.00	SER	Production String - Bottom Stage RECEIVED  Mileage Pump Truck KANSAS CORPORATION COM	MISSION 1,969.00	1,969.00
55.00	SER	Mileage Pump Truck KANSAS CORPORATION	7.00	385.00
1.00	SER	Head Rental JUL 2 2 2008	113.00	113.00
1.00	EQP			529.00
1.00	EQP	Sure Seal Float Collar CONSERVATION DIVI	372.00	372.00
25.00	EQP	Centralizer	57.00	1,425.00
2.00	EQP	Basket	186.00	372.00
1.00	EQP	D V Tool	4,500.00	4,500.00
1.00	EQP	Limit Clamp D67263	29.00	29.00
<i>J</i> *		Do Tool Limit Clamp  Do 7205  820-118  When the stage of		
ALL PRICES A	RE NET, PAYABL	E Subtotal		19,918.10

ALL PRICES ARE NET, PAYABLE 30 DAYS FOLLOWING DATE OF INVOICE. 1 1/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF

\$ 1991.81

ONLY IF PAID ON OR BEFORE

May 14, 2008

4(1) 3(1)	
Subtotal	19,918.10
Sales Tax	915.58
Total Invoice Amount	20,833.68
Payment/Credit Applied	
TOTAL	20,833.68
	. (1 - 1 -

- 1991.81 18,841.87

PRINTED NAME

32095

# ALLIED CEMENTING CONSERVATION DISIGNOC.

REMIT TO P.O. BOX 31						SERVICE POINT:			
RUS	SELL, KA	NSAS 6760	55			6:00 PM	OAN	1E Y	
2/~ 10 - 6 DATE	SSEC.	TWP. 185	RANGE 3/W		ALLED OUT	ON LOCATION	JOB START 4,30 AM	JOB FINISH 5: 30 AM	
KIMBALL	WELL#		LOCATION S	coff	CTLY SE	35/2w-N	COUNTY 500H	STATE	
OLD OR NEW (C		/3	INto	- J	<u></u>				
OLD ORGILE WICE				11		<i></i>	ı		
CONTRACTOR	MURF	IN D	RLL RIL	14	<del></del>	SAME			
TYPE OF JOB	PROCEUCE	<i>t 501 S</i> 4 * T.D	HRING BOH	<u>ьм 5</u> 1	CEMENT				
HOLE SIZE CASING SIZE	51)	7	PTH 4815		AMOUNT OF	DERED			
TUBING SIZE		<del></del>	PTH		350 SK3	ASC 10%5	AH 296	621	
DRILL PIPE			PTH		5006	A/ WFR-2			
TOOL 0-1			PTH 3019		COMMON		@	·	
PRES. MAX. MEAS. LINE			NIMUM DE JOINT <i>21.</i>	55	POZMIX				
CEMENT LEND		}	1,55		GEL	6 5Ks	@ 18 75	112 50	
PERFS.					CHLORIDE_		@		
DISPLACEMEN				1 4 BB/s		50 5KS	_@_ <del>/6_/3</del> _ 	3862 6	
	EQU	UIPMENT	10th 1	T 8 013	Solt	35 SKS	@ 2/60	757 2	
			4				@ <del></del>		
PUMP TRUCK	CEMENT		ERRY				@		
# 422 BULK TRUCK	HELPER	لىل .	AYDE		WFR-2	. 50064/	_@_/ <u>/3</u> -	575 €	
# 399	DRIVER	1	ONNES				_@		
BULK TRUCK							_		
# 394	DRIVER		ARRIN		HANDLING	4115K5	@ 2 15	883 6	
900		• • • •	<u>)</u>		MILEAGE _	94 PER SK	mete	2034 4	
	RE	MARKS:	¥.			•	TOTAL	10224 10	
MIX 500		WFR-Z	350,5K	<u>'s</u>					
ASC 10% 3		9,601.		: UCK	SERVICE				
	+ LINES, DISPLACE 42 BB/S WATER 72 BB/s. Mud.			DEPTH OF JOB 4815					
12 0013.	MUCH					K CHARGE		1969 30	
Plub LAN	ded A	7 20	soo PSI.		EXTRA FOO		_@		
FLOAT HE	ld.				MILEAGE _	55 m		3854	
			- 12	31 11	MANIFOLD	A	_@	117 110	
			THANK	104	HEAD	KENTA!	_ @ 	115 %	
CHARGE TO: _		CrN	1		<u> </u>				
CHARGE TO: _		P-L 111	<i>~</i> .	· · · · · ·	ř <sub>1</sub>		TOTAL	2467	
STREET									
CITY	S'	TATE	ZIP		8/2	" PLUG & FLOAT	r eathdaach	ATTE:	
						U Float S.		C10 40	
						SEM PLATA		<u> </u>	
						HRAITZER	@ 57 %	1425	
To Allied Ceme	enting Co	Inc		, · •	2-BA	40	@ 1868	372€	
You are hereby	_		menting equipn	nent	1-0-	U Too!	@	4500 %	
and furnish cen	-				1- 271	AIT Clamp	_ @		
contractor to do							TOTAL	<b>フ</b> ファフを	
done to satisfac		- 1				· •	. IOIAI	72279	
contractor. I ha				AND	TAX		_		
CONDITIONS	listed on	the revers	se side.	* K	v.	DCE			
		A		,	, ,	RGE	•		
	/		1/1		DISCOUNT		IF PA	ID IN 30 DAYS	
	1.1.	1				s Me			
SIGNATURE _	[1/K	Jory	Cef-	······································	Wa	ary Dove			